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Mathematics -1
Full Marks : 70
Pass Marks : 28

Answer all 20 questions fiom Group A, each question
carries I marks.
29-AH Wil 20 9% & SR «, UAD 9 &I 44 [ b e |
Answer all Five questions from Group B, each que;s*ti(m
carries 4 marks.

70-—B | Wl uf=m gl & SN Q, q-D U $I AT 43 © |

carries 6 marks.

79-C | fi ofg ool & SR <, 9 U7 & A9 6 Ad ¢ |

All parts of a question must he answered at one place in
sequence, otherwise they may not be evaluated.
U g3 & |l 32 &1 IV Uh & Sire (SRR v W)
=11 IR, srar @ wifd &€ oI wed 2 |

The figure in right hand margin indicate marks.

Answer all Five questions from Group C, each question
< ued @ i@ qife & qaw Q| ‘
|
|

P.T.0
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1.

GROUP - A

Choose the most suitable answer from the following
options : 1x20=20

waiftre Suygad fdded &l gaaN o -

(1) The multiplicative inverse of 3+2i is.

@E280 2 0
ERE
B i A
©) ==
e
OR TRt

(d) None of These

) 3421 &1 7D Ufaens 2 |

2
®) F+3!
o2l s
6 o =
BEREL
@) 3- 51

(@) 4 A B 7

&

NT12001
N

(i1)

(iii)

3 2001101/P2001101(Gr. A / Gr. B)

The Argument of Z = -1 -i is.

=
G
Sm
D) =2
) 2
© 3%

(d) None of These

Z=-1-i®T BIUTd ¢ |

SIS
ST
() o
371
(4) -
() 379 4 @is @I

) : ] ?
The Partial fraction of (x+2) (x13) 1S

l |
@ %3 %02
AL =3

] |

(d) None of These
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———'——,— &l 3MRTH A= |
) (Cers))
R
G 3" %02
] ]
L
(EI) X+2  x-3
(R
() 32 %3
() 399 | ®Is T8l
' : Xt 2x2 43
The Partial fraction of is called

(1v)

(1v)

(% 7 1l) (O ==3)

(a) Proper fraction
(b) Improper fraction
(¢) Both proper and improper fraction

(d) None of These

i ey D43 oy oy
eIl (0 4£3)
(@) Sfaa

(@) sHfaa frsy

() St ot sy Py <y
(3) =1 @ w1¢ o

T12001

(v)

(vi)

5 2001101/P2001101(Gr. A/ Gr. B)

The number of terms in the binomial expression
(14X)3 s,

(a) 5

(b) 4

(¢)6

(d) None of These

feus fawar (1+x)° 7 el &) g 2 |
(1) 5
(9) 4
(W) 6

() 379 4@ HIg 1Er

[t np_ =210 ,then the value of n is.
3

(a) 7

(€)5
(d) None of These

P.T.O
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(V1)

(vin)

BRI R E R G

(vi)

NT120¢,

Uﬁlm3=NOETmH$qu§I
(31) 7
(9) 6
(W) 5

(&) 18 O ®lg T2

A row matrix has only

(a) One row and one column

(b) One column with one or more rows
(¢) One row with one or more column

(d) None of these

ufdd Afery 4 dao |

(1) s ufad R ve wqw

(@) Td ¥ B WY us A1 Ua W e
gfaa

() s ufead & wrer uap sy Ud 9
e wamey

(€) 3 A HIE 7

NT12001
i,

(viin)

(viil)

*
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[f A= .then the value of A' is.

@ 1505

F12]
(b) 20
L35

357
(c) 20
152501

(d) None of These

205

o [322]
Fna

@ [ 20
[ 35

35
20
L 12

(@) 3 A BIE T

Uf%«’A=[123] 8 a9 A' &1 71 2 |

(%)

P.T.O
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i G ) Fr=rfed ® s w2
(x)  The value of X In ’ : 01s ‘ ] | ]
) () =18 A
(a) 2 ] l ]
3 @ (AB) =A B
(b) 3 l
- -
= B
(c) 6 (&) (AB) A
) 39 ¥ bl D)
(d) None ot These (=) &7 2
182 : S (x1)  The value of sin[5° is.
(ix) 3X]:0ﬁ X P A9 2 | o 5
(1) 2 2V2
(b) VB = N3 - |
() 3 22
; (c) VB |
(|) 6 D
(]) 374 9 dIs A8l (d) None of These
™) Which one of the following is correct. () sinl5° @1 71 R
Sls \/_+l
ABj' -B' &' ' (@)
(b)(AB)'] -4' B! @) @_]
-1 I 2\2
(c)(AB) =A"" B
) Bl
\2

(d) None of These _ | 21040)
| ) 3 A &g 4
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(N1)

(xa1)

(xiil)

i1 A/l Gr, 13) 10

NT124,

—

[SinA =

y)

T then valye 0l cos2 A IS

i

(a) =L

ro |
VJ);

o
,J,[\J

(b)

(¢)

Gl

(d) None of These

AfQ sinA =4/5 B T4 cos2A BT 7 2|

(31) 55

()

o
(@) 5

@) 7 W oI W

| (B)is.

The principal value of tan
e

(a) 3

®)=

rtll

(c) 6

1ese

(d) None of T

NT12001

(X111)

(xiv)

(x1v)

11 2000001/P2001101(Gr. A/ Gr. B)
! (-v3) @I YT A 2 |
@) 3
@ %
@) &

(@) 39 A ®Ig Tl

If cos 36° =5 + |. then the value of sin54° is

(El) \/5_+2
4

by Y5-1
4

\5 + |

(¢) 7

(d) None of These

If< cos 36° =5+ | B dd sin54° &1 I
® o

[5+2
37 \ 2
(@)

V5 - |
)| et
(@) 1

VS + 1
4

)

R0
(&) 31 W BIg L

e e
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(XV)

(xv)

(xvi)

NT120,

The slope of the straight line 2x + b (5 = 0

o
(a) 5
b -2
(b) 5
(@) 2

(d) None of These

NS X¥ET 2x + 5y + 6= g DI TTA R |
(31)%
@ =2
) 2
(%) 79 A g

The equation 2x - 6y + 6 =0 and 6x + 275 7=
are.

(a) Parallel and perpendicular both.
(b) Paralle]

(¢) Perpendicular
(d) None of These

NT12001 13 20(HH)I/I’ZU(HHH((

oA/ Gr B)

(xvi)  frevur 2 - Oy + 6 -

0371 6x + ZyEsEiea )

o |

(31) TR 3ty o al=y
() T\

(Y1) oreq

() 3991 o BIS )

(xvir)

I'he radiyg and cen(re of the cirele

Sy o 6y +7=0s.
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NT12001

(xvit) The leneth of |wr|wmliculur [rom (-4, 3) on

(N 111)

(\IN)

the line Sx + 12y + 9= 0us

(d) None of Thesc

(-4.3)@ @I 5x + 12y +9=0 WX ST
T oI @) TS B |

—~
@
h——

o

Loy Ly

S ZomN
A 2

NE= S
) R ()
N N

11,,)

(?) 3 4 DIz TE

[he cceentricity of the parabola x= = 4ay. 1s

(¢) -1

() None of These

NT12001 15

(Xix)  yvderd X2 = day &7 Ichbaar @

(a1) 1
(4) 2

() —1

2001 l(ll/l’ZHUllﬂl((.'r. A1 Gr. B)

(€) 3 @ ®Ig 45

(xXX)  T'he tranverse axjs ¢
X2y T
2 p = 'S
(a) ab
(b) 2b
(¢) 2a

(d) None Of These
S i ey 2 -
A
(1) ab
(9) 2p

(W) 2a

() s @ BE T

[ the hyperbola.

~ L DT arguRer gy @

BRING)
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GROUP B

B, [Evaluatce.
4

\nswer all Five Questions.,
o) (@ ) r (o) 4]
4x5=2() c+ta b+c b
Wl Yia 9l & IR Q| a+tb c+a c
— 4
| = ~ S N
2. If (a+ib)Y =x+iy then prove that . 715 [brfery |
s e e @ a
X by cEambERCRD
4 a+b c+a C

|

gfe @ +ibh)3 =xtiv. @ g *sifve fe

i SO o sl OR(31214))
N = (= =34
Show 1l el S 2
OW ¢ afe o 1
OR (3121@n) | v that the matrix = 2l 2 orthoconal.
¥ gl | £
9
Find the term independent of x 1n (}_ %8 —, 1 )
§ | ey B Ay L |y o
| I s ! 2 ! 3iter Moy
Tl o

BT | |
R If pbe the me:

asure of the perpendien]

() A 3
x3—é—x) @ fAavdR q x 9 ¥dd g <d

lJl'JJ

| le' .\LL’]“L‘“[
| “'Oln [, .(). ) ) C
| ]k\ § I

.

! PT.0O

% _____________—:----'.ﬂ..........-'------_-'
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axis are a and b. show that 1—1—3 = -

U WNel VWl A el u¥ a 3N b 3r=:

wue died) 21 el g A 39 W) lfies
l |

miesese e T
Hp g a Rig $IR & p2 = a2 2

OR (31244T)

. i o B
Find the equation of the circle whose centre 1s (|1, -3)

S - > NG = —
and which touches the line 2x -y -4 =0

S¥ g1 bl GHIHRYT [T a1 s (1, -3)
g 3R Sl @I 2x -y -4 = 0Pl G BT 2 |

IFA+ B =457 show that (I F tan A) (1" + tan Bj) =2

J1
A+ B =45 @ Rig a¥ fp

(1 +tan A) (] )2

|
|

NT12001 19 200!H)I/I’ZU(III()I((.'r..\/('r B)

J OR (372rqy)
|

Prove (hat.

Sin20° - Sin 40 . Sin 60° . §iy e - 3
16

Rig o3 fp |

Sin20°

= ==

16

- Sin40° Sin'60°  Singge e 3

Prove ()14t

|
tanec tan(60°

= @) tan (60° + ) = cos 3¢ .

Rrg av f& | 4

tance. wn(ee - o) tan (60° + ¢ Y= cosht

OR (C’J?R[T)

[f o . oo
Foang B be two diflerent roogs ol cqu

4050 + b sing

ation,

=C nr : 2ab
= C, prove tahi sinfa + ) = —?7
=i (D)=

210
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.‘ I\'1-12001 21 2”””“'/"2”U|””((;n e .
: N

s 3NN [} glhrul a cos@+ bsin@=c, & |
Ala (1 <

240
- R osin(atB) = 5=
Ry d gl dl R oY f sin(ot | 92 152

arfaa R f& |

: . n
| +sinl) + 1 cosO i ;
( - = (SIn0 + i cos)n

| + sin0 - i cosO

B e
cos( 7 N -n()) + | sm(7l Nm - ni)

OR (3721aT)

Find the partial fraction of

3% =
(x-1)(x2+1)

GROUP -C

3x k1
~ NI _
(x - 1) (x2+77) DT MRS Q=1 Frapyey |
\nswer all Five Questions.,

6x5=230

| In the expansion of (14 x)N

the co-clhicients of the
[4th |

I'Sth, and 16th term arc in AP then lind n.

. 6
1?«(' V"D RAvr F14 9 15 3 3N 16 o
TS @ gy

Y T TR sjuf) B T Gl

) Prose that

1

£ sin0 + 1 cosl) )
(1__:{)!_2 ) (sin0) lcos())n

] +sinB -1 cos0 ’ l
CoS(5 nm - n0) + | sin(—z— nm - n0)
¥ 0

P.1.0
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OR(312441)
Solve the following sysicm of linear equations by

matrix method

SRR V. = i O 3 =2

Afoaw Py @ Fraifea YRes WX [T
& g DINT |

\~_\'~7:3_2\'—_\f-/:3.,,\'-2y+3z=2

iation of the line drawn through the point

Find the equ
Sliinleseclion ol 2y 5 0SS A 0 and
perpendicular to y - X = 8.

6

59 wvel YAl &1 AHBRuT ST PITe Sl
x +2y 43 =0, dAT 3x -4y +7=07DH B

famg ¥ @@y o) & T y-x=8 W oW & |

NT12001 =
| Z(NHHH/I‘2()(HHH(('r \/(
He NG B)

OR (3127qr7)

Find the equation of the straighi Jine lhrm’ h(2
. % 1gh (2.3
perpendicular to the line joining (2 1) and (4 :
< < £ 5)

9 ¥Xel X BT NBR Rlabiel o) (e (2

(230

gty Ol B a2 Qg (2.0 sl (4.3) &)
ﬁﬁrnﬁ arefl &M U¥ o g @ |

e

Find the equation of the circle which p

the point (1, 1), (2, -1 ) and (3, 2)

| asses through

|
! aﬁ_\’?{“mmﬁwm'ﬁu,mz,-n
‘ (3.2) favgail @ &1ax e & |

OR (3721an)

Find
”IU cquat o .
quation of the cllipsc whose foci arc (1.0)

and (-] ¢
- 0)and whose ceeentricity is —4—

RO
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A g b Wb sid SIS [
AR (1.0) 3R (-1, 0) & AT [SRIB) b -l
v 31

l

S ik s -]
[IRCOSTIAN cosly b cos z=m prove that

) )
N = 22 4 D =1,

6

afe cos'x + cos’ly Feos z=n, d Rig @Y b

bl ) D)
Nl ViR e |

OR (31274T)

Draw the graph of y =sinx between the range -

i0) 27 .

— 1 3N 2w D S V. S=Sinx <pll E}l@ﬂﬂﬂ Ra ‘r).l



